BipiHLLI PeTTi CbI3bIKTbIK
anpoepeHunanablk TeHaeynep



OKY MaKcaThbl

OKyLbl:

12.5.1.10 anddepeHumnanablk TeHaeynepai Knaccudukaumananapl:
alHbIManbliapbl beniKTeHETIH, 6ipTEKTI, OipiHLI PETTi CbI3bIKTbIK,

TeHaeynep;

Learner will:

12.5.1.10 classify the differential equations: with separating variables,
homogeneous, first-order linear equations



bafanay Kputepuunepi

v 6ipiHwi pemmi dugpgpepeHyuan merdeynep mypiH 6inedi
v’ aliHbimansinapel 6eaiHemiH duggepeHyuan meHoeynepdi wewe anadel

v duggepeHyuanosiKk meHoeynepdin depbec ycaHe xcannsl wewimoepiHin
aHbIKMamacoiH bineoi

v dugpepeHyuandsiKk meHoeynep mypansi ¥caanel mycidizi 6ap




KA3AKLLA OPbICLLIA AFfbl/ILLUBIHLLBI

Jugpgpepenyuanovix menoey Jugpgpepenyuanvnoe ypasnenue Differential equation
bipinwi pemmi Iepewvtit nopaook First order

Koobeumy epesiceci Ilpaeuno ymnoscenusn Product rule
Aunvimansinapont 6onin any Omoenamo nepemennvle Separate the variables

Humezpanoaywivl kedeumkiui Humezpupyrowui muoxcumens  Integrating factor
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Kapananbim gndodpepeHunangbik Tenaeyrnep bipHelue
Typnepre derniHeni:

-AMHbIManbinapbl benikreHeTiH AT,

-BipTekTi AndhpdepeHunanabiK TeHaey,
-CbI3bIKTbIK audpepeHunanabiK TeHaey,

- T.C.C.
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Tancbipma 2

o

2xyy'=y?-1

5

Xy'—y = /X2 +y?

Sinu sinv du+cosu cosv dv=0







JlnHeuHble ypaBHeHuUs. [1Y nepBoro nopsaka HasblBaeTcsa NMMHEWUHbIM, ECIN
HensBeCcTHaa PyHKUUA Y(X) N ee Nnpon3BoaHad BXOOAT B ypaBHEHME B NepBOU
CTENneHu:

% b p(x)y = qlx)

3gecb p(x), q(X) - HenpepbiBHbIE OYHKLUMN.

benrici3 GyHKINS y 5KoHE OHBIH TYBIHIBICHI y' TCHAEYAE OIpIiHII JopeiKee
OOJIBII KENETiH 00Jica, SFHU TCHJEY TYPIICHIIPY OaphichiHAa Y + p(X)y =q(X) TypiHe
KEJIETIH 00JICa, OHJA OHBI OIPIHIII PETTI ChI3BIKTHIK TCHJIEY JAen aTanabl. MyHIarbl
OepuireH q(X) GyHKIUACH TEHICYIIH OH YKafbl
Jen aTanajpbl.

%—Sin(X)y%tg(X); Y +(@+x%)y =37-x+5.
"



byn xarganga TeHaeyain wewiMiH kebenTiHai TypiHAe i3aenmia
u(x) orcone V(X):

y'(x) = u'(ew(x) + u(x)v'(x)
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MYMTbIK XKYMbIC



1.A small particle moving In a fluid satisfies the
differential equation % = —0.2(v + v*2). Find the

particular solution of this differential equation
given that v = 40 whent = 0.



1.Water is leaving a tank through a pipe at the bottom, such that the
change in the height of water is modeled by the differential

equation 4% = —+/20h, where t is in minutes and h in

centimetres.

I. Find the particular solution of this differential equation given that
the initial height Is 4 cm.

11.How long does the tank take to empty?



bafanay Kputepuunepi

-anddepeHumnanabiK TeHaeyAep Typaabl ¥Kannobl
TYCiHiriH 6ineni

-anddepeHUnanablK TeHaAeyAepAai Aypbic welweai



Y1 }KyMblICbl




Peduexcus

byrinri cadakra He YUpeHaiKk?

Ecenrep cizaep YuiH kypaeai 00ablI aer oljaauchi3 0a?

Kau ecen kypaeJi 0oaasl ? Here ?




